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Choose the correct answer from the following
questions :
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Which of the following phenomena is not
demonstrated by wave nature of light?

(i) FAIEH
Polarization

(ii) SoRE
Diffraction

(ii}) AN
Interference

(iv) ST A

Photoelectric effect
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In normal Zeeman effect a single
spectral line splits up into maximum

(i) o1 Son
two components
(ii) OO B
five components
(ii) TG Borie
three components
(iv) SIROT BN
four components
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Which of the following statem
in case of Stark effect for H-spectra?

(i) H, ¥ Hp R ST B G TR

H, and Hp lines show equal number

of Stark components
H, @¥iZHp @retE ¥ 8 @R

H, line shows Jess number of Stark
components than Hp line

Hp @R Ho careld 7 B @R
Hg line shows umber of Stark

less n
components than H line
H, 9% Hp

A B @ AR
HaandHﬁ

lines do not show any
Stark component :

ents is true
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If Ri .
s the radius of 5 nucleus having

mass Number A
. . ) th 1
following is correct? en which of the

) Ree Ll
Al/2

(i) Roc_l
A3

(lll) Re A1/3
(iv) R oc A2
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. Constant () Y Proportional to decay
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(b)

8P/208
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(iv) T, oS COSRE fAefmmy RO

AARPITSS
T2 is directly proportional to the
number of radioactive nuclei present

initially
(C13 ure N fRefmm @ @ =
The nuclei 5C13 and ,N!* can be called

as
(i) IR S B

isotopes of carbon

(iti) 255
isotones

(iv) TGS w2551

isotopes of nitrogen
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What are hard and soft X-rays?
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Draw a figure of a gas discharge tube
and locate the positions of Faraday dark
space and Crookes dark space produced
in it.
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Calculate th
€ wavel .
Balmer series of H-s::cgt?; Hy line of

1+1’2
.can by induced Of
Oactivity? Give an example
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What is Compton scattering? Calculate
the maximum kinetic energy of the recoil
electron in Compton scattering.

b -z o R 7 o AR AT e RYe
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What is Frank-Hertz experiment? How does
this experiment establish the existence of

discrete energy states of any atom?

1+3=4

T W ¥ e/m
ﬁcfaasﬁ«mﬁﬁmwcﬁvnamﬁs

What do you mean by specific charge?
Describe the Millikan’s oil drop method
for the determination of e/m of an

electron.
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What is the difference between .X-ray
spectra and optical spectra? Explain the;
origin of characteristic X-ray spectra ©

any element.
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What is
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How can you distinguish
and anomalous Zeeman €
explanation for normal Zeeman €
basis of quantum theory.

between normal
ffect? Give an
ffect on the
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| SRR cl\" WSZW P20 T 1| 2 Describe the L-S coupling sch?rfle; Obtain
Sreq RAF A Y the different possible states arising due to
Mention th ; 2+5”'|  the L-S coupling of the two electrons in the
atom moge] basic postulates of Bohf® 3p and 4p states of any atom-
itf:e e"pressic.)nltlrng this model, obta”
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What qq you 1*7". Describe the construction: theory and
: 1 Spec 3N by the fine structur® Working of linear accelerator Mention two
Oii:it;wsh a ::? USing Sommerfeld’ ad"antages of linear accelerator over
° mod i tycl
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Obtain the €xpression for the lawt;e
radioactive decay and hence define
decay constant,
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f
Describe  the two o

mechanisms
Production of energy

in sun.

%31/ Or

oS iy S M WRFEE-238 1 ﬁ@@;
T M MeV e s oq s B
{0

1Hw = 1-008142 a.m.u.
0N = 1-008982 am.u.

2
gg Us = 238-12493¢ a.m.u.

T
Calculate binding energy P€

. f
and packing fraction c:
the follwoing data

%H =1-008142 a.m.u.

Mass of on= 1-008982 a.m.u.
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Draw the graph showing the \;aﬁuﬁass
binding energy per nucleon ith mase
number. How can you e:lzl)n o o
‘Phenomena of nuclear fission '
using this graph?
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